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. 5x—6=(x—-2)(x-3)
12x — 4x? = 4x(x - 3)
. _
x?—14x+49 = (x - 7)?
@ 3x2 )
+5x-2=(x-2)3x+1)

® 4a?
— 9b2
(2a — 3b)(2a + 3b)
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@D 2x% - 5xy+3y? = (x=3y)(2x—y)
@ ma+ mb—m = m(a+ b)

® 64a + 32ab + 4b* — (3a + 2b)?

@ —4a? + 952 = —(2a + 3b)(2a — 3b)

® x*-5x-6=(x-2)(x-3)



© da?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

@ 4ab-1= (2a+1)(2b—-1)

© 00 CRONE
ONORENC) ® A, 0.6

ONGNC)




o
jille
rlo
N
I
ftlo
ro
i
M
:?—l‘_‘a
_O,l‘,
£
o
rE
filo
ne
rlo
M
)
o
8o
rlo
sl
flo

)

@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z



5. TR Al A4 x2-3x-18, 3x% + 7x—6,2x% +x— 15 2] 52 Q52

@ x+3 @ 3x-2 ® 2x-5

@ 2x+1 B x-6



® 2x24+7x+6

@ x*-4

@ 2x24+3x-2

® 3x2+Tx+2

@ x2+x-6
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D x+14 @ x+7
@ 3x-9 ® x-3
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@D 2x+3
@ x-5

dx+3 7 2x2-3x-9 9

@ 2x+1
B x—3



9.  a(2a-b) - (b-2a) S QA5E5|5tA?

® (a—-1)(2a-b) @ (a-1)(2a+b)
® (a+1)(2a+b) @ (a+1)(2a-b)
® a(2a-b)



@ 2(x+1) (x—%)
@ 2(x+1)(x—-1)



@ (a+b)(m +n)(m-n)
® (a-b)(m+n)?
® (a-b)(m—n)?
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@ —-2n B m4+n @ 2n 3B 2m

@D 0
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(a=b+3)(a+b-3) &

@ a®-b2-9
® a®-b>+6b-9

B a2=b2+6b+9



15. (x+y)(x+y+6)+9 5 Ag& o]-§sto] AEafista?

@ (x+y+3)? @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-3)

® (x+y+3)(x—-y-3)
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@D -5 ® -1 3 -3



@ m+n-1 @ m-n+2

® m-n

O® m+n-2

@® m-n+1



18. (3x+1)2-4(2x-3)? = —(Tx+a)(x-b) ¥ W, 2a+b 2] Fk= F5FH?

D -1 ® -3 3 0 @ 2 B -2



19. (x+2)2-(x+2)(y-1)-6(y—1)2 Q15EalstH?

D (x+3y-1)(x—2y+4) @ (x+2y+4)(x-3y)
® (x+3y)(x—2y) @ (x-=3y+5)(x+2y)

® (x-3y—-4)(x-2y+1)



20. 3ab? - 15a%b S AFEHS AL?

@ ab(a-b) @ 3a(b*-b) ® 3ab(b - 5a)

@ ab(a+b) ® 3a?(b? - 5b)



21. o= deaslivt Exd A2

@ 33 +x2-x=x(3x2+x-1)
@ —x2+25=(5+x)(5-x)

@ 2 +8x+12=(x+2)(x+6)
@ 36x2 + 24xy + 4y? = (6x — 2y)?

® 6x2+5x+1=(2x+1)(3x+1)
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@® x*-25=(x+5)(x-5)

@ x> +2x-8=(x+4)(x-2)
® 2% +Tx+3 = (2x+ 1)(x+3)
@ 4x2+4x-15= (x - 3)(4x + 5)

® x?-14x+49 = (x-7)?
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@O x2-2x-8 @ x2-2x-3 ® x®+3x+2

@ x2-x-2 ® x2-3x+2
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® x+3

@ 2x-3

@D x-1

@ 2x+3



25. (x+4)%2-3(x+4) & J5EalctH?

O (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@ x+4H)x+1) @ (x=-7)(x+1)



26. (2a-3b)? - (4a - 5b)% = 4(ma + nb)(b - pa) & W, mn - p °| I
ok

D =11 ® 13 3 —-13 @ 11 B -2



27. (2x+1)2—(x-2)2 = 3x+a)(x+b) & W, a+3b O] FH= F5HH?

@D 4.5 ® 6 B 7 @ 8 ®B 9



28. 2(x+2)+ (x+2)(3x—1)—

(B3x-1)2 =
ab + cd ©) 3+ T (H, a,

c = %)

(ax-i-b)(c)c_,_d) OE] ]IH’

D -1 @ 3 ® 0 @ 2



29. (x-3)(x+1)-(x-3)2+6(x+1)* = AZEH5tH?

@ (Bx+2)(x+2) @ 2(3x-1)(x+3)
® 2(3x+1)(x-3) @ 4(2x-2)(x+3)

® -2(3x-2)(x-3)



30. xX*-(?-6y+9) & AFEslstH?

@ (x—y=-5)(x—y+2) @ (x=y+5)(x—y+2)

® (x+y-3)(x-y-3) @ (x+y+3)(x—-y+3)

® (x+y-3)(x—-y+3)



